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012131 4566 787 9 :; <=>?: @=:AB:A<C
DE:F<G <; >?=:
X = 6, 12, 17, 24
p = b, 20, a, 14
M(X) = 15.8209 H µ3(X) = −0.6464

012131 4566 7I 7 9 JK>L;:K>?: @==:
@E JMA:=F; >?=:
X = 8, 11, 16, 21
p = 11, a, b, 4
M(X) = 13.3830 H µ3(X) = 5.9467

012131 4566 76 7 N OL>? N G <B; <P
Q<R:PE>?<S
X = 5, 10, 18, 21
p = b, 14, a, 4
M(X) = 14.5769 H µ3(X) = −85.1825

012131 4566 7T 7 U >V JJ? @;BJG
@EJMA:=F; >?<S
X = 5, 11, 19, 23
p = a, b, 28, 14
M(X) = 17.3333 H µ3(X) = −85.6593

012131 4566 7W 7 X >Y?<=JZ @;BJG
@E JMA:=F; >?<S
X = 8, 12, 19, 24
p = a, b, 33, 11
M(X) = 16.9545 H µ3(X) = −59.2998

012131 4566 7[ 7 Q :EC=>? \ ?:= ]; ^J?<S
X = 6, 13, 19, 20
p = a, b, 29, 7
M(X) = 16.6727 H µ3(X) = −69.3885

012131 4566 7_7 `C LZJ? @=F; JP
Q :;:B>?<S
X = 6, 10, 16, 20
p = 6, a, b, 3
M(X) = 13.5745 H µ3(X) = −41.0341

012131 4566 7a 7 b:PcOE :J? Q OA:
` OAE :=>?<S
X = 7, 11, 16, 21
p = b, 11, a, 8
M(X) = 13.9643 H µ3(X) = −17.7947

012131 4566 7d 7 bG <; =>? e :?JE
@=F; JJ?<S
X = 8, 14, 19, 21
p = a, b, 28, 7
M(X) = 15.5857 H µ3(X) = −50.5261

012131 4566 78f 7 ghY:=>? N G <B; <P
@=F; JJ?<S
X = 7, 10, 18, 22
p = b, 14, a, 9
M(X) = 15.6182 H µ3(X) = −54.1649

012131 4566 7887 D :A<= e :?JE
X = 6, 11, 18, 23
p = 6, a, b, 13
M(X) = 16.4310 H µ3(X) = −85.2218

012131 4566 78I 7 e >R ?:E<B>?: @==:
@E JMA:=F; >?=:
X = 6, 12, 19, 23
p = 2, a, b, 13
M(X) = 17.2188 H µ3(X) = −46.7320

012131 4566 786 7 bJ=S<R<=: N :; ^C
@E JMA:=F; >?=:
X = 7, 14, 17, 22
p = 10, a, b, 12
M(X) = 15.5467 H µ3(X) = −40.1458

012131 4566 78T 7 i:G jR:P DO klmno
pmnq rst
X = 7, 14, 18, 22
p = 7, a, b, 12
M(X) = 16.4219 H µ3(X) = −61.2744
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012131 4566 78W 7 `>G J; > Q >=<M: k��o � �
¡ �¢q£nt
X = 8, 11, 15, 22
p = a, b, 20, 9
M(X) = 13.5088 H µ3(X) = 58.2043

012131 4566 78[ 7
X = 6, 12, 15, 24
p = 3, a, b, 14
M(X) = 16.0909 H µ3(X) = 53.1156


